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Please check whether you have got the right questitgi‘i’ paper N I G o7 e
N.B: 1. All questions are compulsory subject to mtemal cﬁﬁlce& LRSS PGS
2. All questions carry equal marks. RS LA NR
Q.1  Attempt any two questions. S Pt & % (15)
A) What is project management? Explain the objective of pro_]ect management ' S e
B) Define organizational structure. Explain types of. organlzatjmal structure, . * AT

C) A Company is considering two mutually exclusive Emjects ‘The: finance director cenmders that

the project with higher profitability Index sh@ul" bé__ ChOScﬂ ¥ ollowmg ar the partlculars of both
the projects. 5 :

Particulars Pro_]ect M (Rs) Do '“iject N(Rs) &l
Cash out flow 1 00‘000 e EF0A00° S S
Cash Inflow: T R A S TS
Year I 260002 o To 0 2500000 <
Year II V25,000 - i, | 35000 T
Year HI FOPAS00T O K WP &L 65800 <T ST
Year IV ' 160,000 o 85,000 .« ¢
Year V o5 A_.j85 000 1,05,0000 "
Assume the companies rate of retum is 10% Ut
The present value of Rs @ ]0% for S yc\arsﬂfaré as. follows
Year b % \ B PV of & @ 10%: Av v
1 S S oS s
2 1°0.826 - &
3 OB S5 5
5 SR S PRERES
Q.2 Attempt any two quesﬁons DF T e 1s)
A) Define project feas.lblllty‘i’ Explam scope of pmject feasnblhty
B) Describe ‘E commerca in project management.:
C) State and. explam vatious operanonal strategles
Q.3 Attempt any two questions: 0 ;;--'- , (15)

A) Discuss Risk Ma‘nagement Procesq
B) Calculate: Operating. Leveraﬂe and combmed leverage
From the fo!lomr_lg data of’ Tlge Li¢

Particulars - & ¥ Amount
‘Sales (Rs) &4 3,60,000
Variable Cost (Rs) 20 per unit
Fixed Cost (Rs) - 72,000
~:Output (Units) - 6000
| Interest (Rs) .| 40,000
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Q.3 C) From the following Information of Eagle Ltd calculate the value of an QQU]tyShﬁré;
1000 10% Preference shares of Rs 100 each | Rs 100, 000 8

20,000 Equity shares of Rs 10 each fully paid

Earning before tax

Rate of tax

Transfer to general reserve

Normal Rate of Earning

Q.4 Attempt any two questions.
A) Write a note on Continues Improvement 3
B) Discuss in detail computerised project management mformatlo
C) What are the steps involved in termmatlon ofa pmject‘?

Q.5 Case Study:- 2 St
Dove Ltd propose to set up a new plant ‘at Thane for précessmo the "mdustrtal wa
marketable products. The product ha;a demandsfqr _604})00 unii : ! 3
The processing cist includes vanable cost Rs9 per unit‘and {i; d
Rs 50,000 p.a. Advertisement cxpenses -are ﬁlsof xpected to b R: 24,000 p.
The product can be sold at Rs. 30: per unit: Rawﬁafeual}( Ip awvﬁilab
The Capital investment is Rs<‘24~, :
of Rs. 18, 00,000 for a term of 6
instalments along withinterést at: the’ end of-eac
Rate of Interest 10%p.a: G5 s
Income tax rate is 30¢ %
You are requu‘ed‘t {7

o

2) Calculate the' debt servme covcfége -_f_df the;a‘ Ves: ycam ./
3) Amortlzatmn Scﬁbduie :fo _repaym tat]oan_ :
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cost. {Exv lud‘f‘ng depreciation)

f nput); _ i@at Rs 3 per unit.
00,000: The Company ‘has applied ‘to&ank-of Baroda for a loan
years which is life; oi:‘the é’ssefﬁgLoan is repayable in 6 equal



